Part II: Calculate the Mean and Standard Deviation
Example: Gene 1
	
	Gene Expressions (Log2)
	Deviance
	Deviance2

	Mike Smith (Patient 1)
	0.49
	0.49 - 1.11 = -0.62
	(-0.62) 2 = 0.38

	Patient 2
	1.20
	1.20 - 1.11 = 0.09
	(0.09) 2 = 0.01

	Patient 3
	1.63
	1.63 - 1.11 = 0.52
	(0.52) 2 = 0.27

	Mean = (0.49 + 1.20 + 1.63) ÷ 3 = 1.11

	Sum of Squared Deviances = 0.38 + 0.01 + 0.27 = 0.66

	(Sum of Squared Deviances) ÷ 2 = 0.66 ÷ 2 = 0.33

	Standard Deviation = √ (0.33) = 0.57




Part III: Normalize the Gene Expression Values
Example: Gene 1
	
	Gene Expressions (Log2)
	Normalized Gene Expressions

	Mike Smith (Patient 1)
	0.49
	-0.62 ÷ 0.57 = -1.09

	Patient 2
	1.20
	0.09 ÷ 0.57 = 0.16

	Patient 3
	1.63
	-0.48 ÷ 0.57 = 0.91
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